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INSTRTUCTIONS
» Answer Question ONE in Section A and TWO other Questions in Section B.

Section A-COMPULSORY
QUESTION ONE

(@) Shunichi Kobayashi is valuing United Parcel Service. Kobayashi has made the following
assumptions:

e Book value per share is estimated at Sh9.62 on 31 December 2017.

e EPS will be 22 percent of the beginning book value per share for the next eight years.

e Cash dividends paid will be 30 percent of EPS.

e Atthe end of the eight - year period, the market price per share will be three times the
book value per share.

e The beta for UPS is 0.60, the risk - free rate is 5.00 percent, and the equity risk premium
is 5.50 percent.

e The current market price of UPS is Sh59.38, which indicates a current P/B of 6.2
Required:

Q) Prepare a table that shows the beginning and ending book values, net income, and cash

dividends annually for the eight - year period (6 Marks)
(i) Estimate the residual income and the present value of residual income for the eight
years. (4 Marks)

(iii)  Estimate the value per share of UPS stock using the residual income model (2 Marks)
(iv)  Estimate the value per share of UPS stock using the dividend discount model.

(2 Marks)
(v) How does this value in (iv) above compare with the estimate from the residual income
model? (1 Mark)

(b) Explain the following defense tactics against a hostile takeover as used in mergers and
acquisitions

I.  Pac-man defense (2 Marks)
ii.  White Knight (2 Marks)
iii.  Sale of crown jewel (2 Marks)
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(c) You want to determine the YTM for an issue of outstanding bonds at your firm. Your firm has
an issue of 10% annual coupon bonds with 15 years left to maturity. The bonds have a current
market value of Sh1,250 and par value of Sh1,000. Estimate the approximate Yield to maturity of
the bond (3 Marks)

(d) A bond has current par value of Sh1,000 and an annual coupon rate of 4% and current
interest rate of 4.5%. The bond has 5 years to maturity. Required:

i.  Calculate the Macaulay duration of the bond and interpret your answer
ii.  Calculate the modified duration

(4 Marks)
(2 Marks)

{TOTAL: 30 MARKS}

SECTION B (40 MARKS)

QUESTION TWO

a) Masomo Ltd is considering acquiring Mawazo Ltd. a firm in the same industry in order to
consolidate its market share. Mawazo Ltd has been less profitable, so it has paid an average
of only 20% in taxes during the last 10 years. In addition, it has used little debt having a
debt ratio of 25%. If the acquisition would be implemented, Masomo Ltd could operate
Mawazo Ltd as separate wholly owned subsidiary. This will increase Masomo Ltd’s
gearing ratio to 30%. The following is a forecasted financial data for Mawazo Lt over the
next five years;

ANSWER ANY TWO QUESTIONS

Year 1 2 3 4 5
Sh.million | Sh. million | Sh. million | Sh. million | Sh.million
Net Sales 150 160 175 170 165
Operating Costs 10 15 20 25 17
Selling and Admin Costs 15 20 18 19 21
Acceptable investment projects 0.8 0.90 2.60 2.20 1.20

Additional information;

1. The risk free rate of return is 8% and debt is considered to be risk free

Expected return of the market portfolio is 13%

The firm’s levered equity beta after acquisition is estimated at 0.80

After 5 years, the net cash flows of Mawazo Ltd increase at a constant rate of 6% per
annum in perpetuity.

Corporation tax is 30%

The firm’s gross profit margin is 40%

Mawazo Ltd incurs fixed cost of Sh. 2 million per annum

The firm’s equity shares and bonds are currently trading at par.

hon
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Required; Determine the maximum price payable to acquire Mawazo Itd using the discounted
free cash flows basis (10 Marks)

b) Over the recent past, there has been increased number of mergers and acquisitions. Despite,
their popularity, reported failed mergers are still on the rise. Explain Four Reasons why
mergers and acquisitions fail. (4 Marks)

c) Biashara Ltd shares are currently trading for Sh24 and have paid a dividend of Sh1 per
share for the most recent year. The following information is given:
e The Risk free rate is 4%
e The shares have an estimated beta of 1.2
e The equity risk premium is estimated at 5%

Required: Based on the above information, determine the constant dividend growth
rate that would be required to justify the market price of Sh24. (4 Marks)

d) Maji Mazuri Ltd has an estimated beat of 0.2 and the risk free rate of return is 4.5%. The
equity risk premium is estimated to be 7.5%. Using the CAPM, calculate the required rate
of return for investors in Maji Mazuri Ltd. (2 Marks)

{TOTAL: 20 MARKS}
QUESTION THREE

(a) Explain Three Circumstances when Free Cash Flows Valuation Approach is justifiable as a
valuation technique. (3 Marks)

(b) Phillips Ltd Company currently sells for Sh32.50 per share. In an attempt to determine whether
Philips’ Ltd is fairly priced, an analyst has assembled the following information:
e The before - tax required rates of return on PHB debt, preferred stock, and common
stock are, respectively, 7.0 percent, 6.8 percent, and 11.0 percent.
e The company’ s target capital structure is 30 percent debt, 15 percent preferred
stock, and 55 percent common stock.
e The market value of the company’ s debt is Sh. 145 million, and its preferred stock
is valued at Sh. 65 million.
e PHB’ s Free Cash flows to the Firm (FCFF) for the year just ended is Sh. 28 million.
FCFF is expected to grow at a constant rate of 4 percent for the foreseeable future.
e The tax rate is 35 percent.
e PHB has 8 million outstanding common shares.

Required: What is Philip’s Ltd estimated value per share? Is PHB’ s stock underpriced?
(5 Marks)

(¢) You have recently been appointed as a junior analyst at “Your Future is Here” Private equity
firm. You have been tasked with estimating the dividend growth rate of a client’s firm. Explain
Two methods that you can use to estimate the dividend growth rate. (2 Marks)
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(d) Residual income as a valuation technique is one of the most reliable methods that financial
analysts use. Despite its popularity, it has a number of weaknesses. Explain Three weaknesses of
residual income as a valuation method. (3 Marks)

(e) Jeremy is using economic value added (EVA) and market value added (MVA) to measure the
performance of Sundanci. Jeremy uses the following fiscal year 2020 information for his analysis:

e Adjusted net operating profit after tax (NOPAT) is Sh100 million.

e Total capital is Sh700 million (no debt).

e Closing stock price is Sh26

e Total shares outstanding is 84 million.

e The cost of equity is 14%

Required: Calculate the following for Sundanci. Show your work.

(i) EVA for fiscal year 2020. (2 Marks)
(i) MVA as of fiscal year - end 2020. (2 Marks)

() DMH builds prefabricated homes and mobile homes. Favorable demographics and the
likelihood of slow, steady increases in market share should enable DMH to maintain its ROE of
15% and growth rate of 10% through time. DMH has a book value of Sh30 per share and the
required rate of return on its equity is 12%.

Required: Compute the value of its equity using the single - stage residual income model
(3 Marks)

{TOTAL: 20 MARKS}
QUESTION FOUR

(a) Differentiate between a “Call Option” and a “Put Option” as applied in option derivatives

(3 Marks)
(b) A financial analyst is interested in using the Black-Scholes Model to value call options on a
stock.

The following information is available:

The price of the stock is Sh.35.
The strike price is Sh.30.
The option matures in 9 months.
The volatility of returns of the stock is 0.30.
e The risk-free rate is 10%.
Required: The value of a call option using the Black-Scholes Model. (5 Marks)
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(c) (i) Great Rift is a public utility holding company that listed its 4.5% cumulative perpetual
preferred stock series in March 2012. The par value of the preferred stock is Sh.100. If the required
rate of return on this stock is 5.6%, estimate the value of the stock. (3 Marks)

(it) Diwani Ltd recently paid a dividend of Sh1.80 An analyst has examined the financial
statements and historical dividend policy of Diwani and expects that the firm’s dividend rate will
grow at a constant rate of 3.5% indefinitely. The analyst has also determined the beta to be 1.5, the
risk free rate is 4%, and the expected return on the market portfolio is 8%.

Required: Calculate the current value of Diwani Ltd’s shares. (3 Marks)

(iii) The Gordon growth model (GGM) has a number of characteristics that make it useful and
appropriate for many applications. However, the model has some characteristics that limits its
application. Explain Three limitations of the GGM (3 Marks)
(d) Heri Haki Ltd has issued 5 years’ corporate bonds of par value Sh1,000. The coupon rate is
8% and the required rate of return is 10%. Required: Calculate the Market Value of the bond and
state whether the bond is selling at a premium or a discount. (3 Marks)

{TOTAL: 20 MARKS}
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QUESTION FIVE
(&) A company has a dividend payout ratio of 80% and the current return on equity is 35%.
Calculate the sustainable growth rate of the company (1 Mark)

(b) Explain three assumptions of the Gordon Brown’s dividend growth model for valuing equities
(3 Marks)

(c) (i) Explain the term “Synergy” as used in Mergers and Acquisitions (2 Marks)
(ii) Explain Four types of synergies that arises to a company as a result of a merger (3 Marks)

(d) (i) A zero-coupon bond has Sh1,000 face value and a 20-year life. The appropriate discount
rate is 10%. Compute the value of the bond. (2 Marks)

(it) Lavender is preparing a valuation of Quick Auto Centre Ltd. She has decided to use a three
stage Free Cash Flow to Equity (FCFE) model and the following estimates. The FCFE per
share for the current year is Sh0.75 The FCFE is expected to grow at 10% for the next year,
then at 26% annually for the following three years, and then 6% in year 5 and thereafter.
Lawrence has estimated beta to be 2.00 and the risk-free rate to be 4.5%. The equity risk
premium is 5%. Given the above data collected by Lawrence, estimate the value per share of
Quick Auto Ltd. (5 Marks)

(e) Naikare Baraka (NB) is a family-controlled company that dominates the retail book market.
NB has a book value of Sh10 per share, is expected to earn Sh2.00 forever, and pays out all of
its earnings as dividends. Its required return on equity is 12.5%.
Required; Calculate the value of the stock of NB using the following:
i.  Dividend discount model (2 Marks)
ii.  Residual income model (2 Marks)

{TOTAL: 20 MARKS}
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0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09
0.0 0000 0040 0080 0120 0160 0199 0239 0279 0319 0359
0.1 0398 0438 0478 0517 0557 0596 0636 0675 0714 0753
0.2 0793 0832 0871 0910 0948 0987 1026 1064 1103 A141
0.3 179 217 1255 1293 1331 1368 1406 1443 1480 A51T
0.4 1554 1591 1628 1664 A700 AT36 ATT2 1808 1844 1879
0.5 1915 1950 1985 2019 2054 2088 2123 2157 2190 2224
0.6 2257 2291 2324 2357 2389 2422 2454 2486 2517 2549
0.7 2580 2611 2642 2673 2703 27T 2764 2794 2823 2852
0.8 2881 2910 2939 2967 2985 3023 3051 3078 3106 3133
0.9 3159 3186 3212 3238 3264 3239 A315 3340 3365 3389
1.0 3413 3438 3461 3485 3508 3531 3554 3577 13599 3621
1.1 3643 3665 3636 708 3729 3749 a770 3790 3810 3830
1.2 3849 3869 3838 3807 39825 3944 3962 3880 3997 4015
1.3 4032 4049 4066 4082 4009 4115 A131 4147 A162 47T
1.4 4192 4207 4222 4236 4251 4265 4279 4292 4306 4319
1.5 4332 4345 A35T 4370 4382 4394 A406 4418 4430 4441
1.6 4452 4463 4474 4484 4495 4505 4515 4525 4535 4545
1.7 4554 4564 A5T3 4582 4591 4599 4608 4616 4625 4633
1.8 4641 4649 4656 4664 ABT 4678 4686 4693 4699 4706
1.9 A713 AT19 AT26 4732 4738 AT44 AT50 ATEB ATB1 ATET
2.0 AT72 4778 4783 4788 4793 4798 4803 4808 4812 4817
2.1 4821 4826 4830 4834 4838 4842 4846 4850 4854 4857
2.2 4861 4864 4868 4871 4875 4878 4881 4884 4837 4890
2.3 4893 4896 4898 4901 4904 4906 4909 4911 4913 4916
2.4 4918 4920 4922 4925 4927 4929 4931 4932 4934 4936
2.5 4938 4940 4941 4843 4845 4946 4948 4849 4951 4952
2.6 4053 4055 4956 4057 405G 4960 4061 4962 4963 4064
2.7 4965 4966 A96T 4968 A969 4970 A971 4972 4973 A974
2.8 4974 4975 4976 4977 4977 4978 4979 4880 4930 4981
2.9 4981 4982 4982 4983 4984 4934 4985 4885 4936 4986
3.0 4987 4987 4937 4988 4988 4939 4989 4889 4990 4990
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Present Value of 1 Received al the [ind of n Periods:

PVIE = I{1+)'= (1+1)"
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1 880i 3004 9709 SA1S  G8M SM  SME MM MY 5091 BAX AT 8% BGM  BATS BDDY OGS T} TSI 1S
7 GB0Y 4617 D426 SME 507D BS00 87TM  ASTD AT 264 TAT MRS 1SE1 7430 MIE}  AsM BB GBI STI M7
3 8706 421 9151 BBI0 BEIA B3 BIE) 938 TTXD M3 MG 6750 6575 G407 G086 ATAT SME  4TER 4MB N5
4 8840 9238 BABS 6548 8227 73N 7629 7350 TOB 6830 6ES 58N AnMA 5523 M58 461 AW NI MM 151
4 9515 9957 BG2E B9 7B T4TI TI30 BBO6 G403 B20F SET4 MM 4ITD TR 43N 4019 M1 10 M8E Digd
§ 5420 0OBO BITS 790} 7462 7050 BGEY BI0? 5961 SG45 S0G6 4556 4320 4104 3704 3MI O 2MB0 1IN 4830 EE0
T 5171 AT0S  BIM1 7S99 7107 BES1 G227 5815 MT0 5132 4523 3996 ME9 1538 MI9 TM 2B ATTE 1432 Ni62
§ 5235 8535 T84 7T ETEM B274 SB20 5401 5018 4EE5 4039 JSDE 1269 1050 66D 13N 17B9 1388 1085 O8N
9 5143 B3I6E TEE4 7026 G446 3W9 5419 5007 4604 4240 DEOE  JOTS MMY 2620 2235 1930 443 1084 0B22 O
0 9051 8203 7441 ETIE  E109 3384 J0BY 463) 43 JAIS M0 MW UMY M7 MU G NE 0BT 0E1  (ME2
JH 886} 8041 TIM BAS6 SB4T 5268 4TSI A2BD JATH  3M05 ZATS  ZMGE MA9 1954 1615 IME 0938 8ED 0472 0M0
12 BA74 TBES 7014 B4E 5SEM 4970 444D 3971 3555 MBE 2567 2OTE BGD MEBS 132 M1 OTAT 0T 03T 01
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14 BT00 7873 GAM1 STTS SDS 4421 M8TE M0S 2957 2831 2046 1597 141D 1257 09BS 07T G492 Q0ME 0205 O35
15 BE13 .TA30 19 5333 410 4473 3624 NI} 2M45 1A% 1BIT 14D 1729 1079 0035 DA 0397 0T 0155 QoM
16 8520 T2B4 B212 5339 4SB1 3936 33T 2919 288 M6 4631 1229 1065 0930 O70B 0SM 0N20 01} Ou@ Qo7
1T Bs4d  Ti42 EOSD SIM 4363 374 MER 203 2301 9818 4% 907H 0525 0802 0600 .0dST 0250 0150 0083 0054
18 8360 7002 U674 4036 4155 3503 2050 2507 M0 1793 1300 OB4E OBOR 0691 008 0376 008 0t18 O0GE 0019
19 BITT 6864 570 4746 3857 1305 7765 IMT %45 1835 1161 0E29 0703 059 431 0313 0163 0082 OOM 0029
M B9 GTI0 5537 ased 37eS 9B 2B4 145 1TB4 1486 (0T 07T 0611 0814 0MES 0261 0133 00M 001 o0U
3% 198 6095 4776 TS 2953 2330 1B42 14B0 11D 0923 0586 038 03 0248 Oi60 0905 0046 00M 0010 0005
07419 5520 4120 3083 234 7L M4 0954 0784 0STY 03B 019 0181 0416 0070 0042 0016 006 0002 oot
40 ATIT 4520 3066 2083 1420 0977 0868 0480 03B 0N 0107 0053 0017 00236 0OFD OO 0002 0O

§1 6080 M5 2281 4407 DETZ D543 0333 013 MM 0085 L0035 0014 0009 0006 0003 OGO

GO 5S04 3048 1887 0951 0535 0303 7Y 0043 0057 0033 0011 00O 0002 .00OY

* The factor is zefo to four decimal places
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Present Value of an Annuity of | Per Period for n Periods:

l
o ——
oo (s
PVIF, =L —= —7—
(=l (L4r)

)

L | ] P41 £y 4% 5% 6% Th 8% E 1% 17 1% 15% 16% 8% 20% FEb 8% I2%
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